Subject:-Financial Accounting
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The following Balance Sheet shows the position of ABC on 31st March, 2017 -
Liabilities Amount Assets Amount
& ¥ | \S
Creditors 20,000|Cash 6,000
Re 15,000 |Stock 20,000
Capital A/cs : Machinery - 20,000
25,000|Debtors 10,000
15,000|B/R 10,000
C’s Capital A/c 9,000
75,000 75,000

It was decided to dissolve the firm. C became insolvent and ¥ 2,000 only were
sceived from his estate. The assets realised as under :

From Bills Receivable ¥ 7,000; from Stock and Debtors 25% less than the book
value; from Machinery ¥ 14,000. Realisation expenses amounted to ¥ 2,500.

Assuming Capital Accounts as fixed, prepare Realisation Account, Capital

Accounts and Cash Account according to Garner Vs. Murray decision.
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Particulars N itors o ?
L 20,000(By Cred*0C |
T ' 20,000[By Cast 7000 4
T’I\{) Mtzihinery ) 10’088 Stock lg’ggg
'Ib Dethl‘S 10,0 Debtqrs 14’000
To B/R ¥ Machlnel'y —=7 4
To Cash Alc : 90,000 g Capltal
Creditors ’500 22,50 ansfel'red .
Expenses 20 tr 6,333
g 6,333
C 6,334 19’%
84
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Capital Accounf“3 — = . B‘,\C,
Particulars ASE! B -———%—-—" 25200 15200 .\? A
* | *_| o,000[By Balance b/d | 22000 5,000 &
—_— = = ’ A/c ’ s 5 .
To Balance b/d By Reserys 6,333| 6,333 y M
ToRealoaton A | 6,333| 6,333| 6,334|By Cash A/:al Ale ¢
0SS ) ’ ’ Ca l
To C’s Capital A/c | 5,209 3,132 = By(g: deﬁg'mcy 5/8) 5 | Sagf
To Cash Alc 24,791| 16,8 By B's Capital Aal/% ) :
eficiency %) = 3]
& 36,333 | 26,333 | o,
36,333 | 26,333| 15,334 —
Cash Account |
o \
Particulars Amount . Particulars Amﬂ
S ;
. . A T
1 b/d 6,000| By Realisation Alc:
"i“g g:aallir;iion Alc 43,500 Cred1tor§ 20,000
To A’s Capital A/c 6,333 Realisgtaon Exps. 2,500 22,500
To B’s Capital A/c 6,333|By A’s Capl-tal Alc 24791
To C’s Capital Alc 2,000|By B’s Capital A/c M
__64,166 64;156 |

Working Notes : _
Loss on Realisation has been distributed equally.
C’s Deficiency of ¥ 8,334 has been shared by A and B in the ratio 5 : 3.
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Calculation has been made nearest rupee.




